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This question booklet is divided in
two sections — Section-A an

Section-B.

In Section-A
80 objective type questions out ¢
which 40 questions are compulsory
If the candidate answers more tha

40 questions, the first 40 answer:
be evaluated. Eact

there ar

only will
question carries 1 mark. For
answering these darken the correct
circle given on the OMR answer
sheet with black / blue ball pen.
Do not use whitener / liquid

_ material / blade / nail etc. on

the OMR' answer sheet otherwise
the result will be treated

invalid.

. In Section-B ' there are Short

Answer Type  questions of
5 subjects of Social Science. Each
question carries 2 marks.

History has 6 Short Answer Type

questions (Q. Nos. 1 to 6) out of

| which any 3 questions are to be

answe::'ed.

Political Science has
Answer Type questions (Q.
9 to 12) out of which any
2 questions are to be answered:

4 Short
Nos.

___-—-"---
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(0. Nos. 29 32) &, 774 | fa=t
2xvat & gwe 34

= HOR® 8 T IWHE T
(0. Nos. 7, 8, 13, 14, 19, 20, 27, 28)
&) e gvT & forw 4 dw iR

&1 sher, i R, SR
w?ﬁﬁﬁmﬁ#cﬁﬁ-wmw
IWIMEl '

8. fredt waR & olagiti v @ 8
st qoicrar aford &1

[ 111 ]
Economics has 4 Short Answer
Type questions (Q. Nos. 15 to 18)
out of ‘which any 2 questions are

to be answered.

Geography has 6 Short Answer
Type questions (Q. Nos. 21 to 26)
out of which any 3 questions are

to be qnswered.

Disaster Management has
4 Short Answer Type questions
(Q. Nos. 29 to 32) out of which any

2 questions are to be answered.

Apart from these, there are 8 Long
Answer Type questions (Q. Nos. 7,
8 13, 14, 19, 20, 27, 28). Each
question carries 4 marks. One Long
Answer Type question each from
History, Political Science, Economics

and Geography is to be answered.

Use of any electronic appliances is

strictly prohibited.

[Ss/a/612

Page 3 of 32



E | [ 111
@ug - A /| SECTION - A

TS WY / Objective Type Questions
WeT 9T 1% 80 a% & Wedw Wy & @y 9w fweq kv v & fr 4 v

7 #1 v gnT g T AEew ¥ OMR iz wr fufeAd ¥ dawm
40 ¥t @ & g 40 x 1 = 40

Question Nos. 1 to 80 have four options each, out of which only one is
correct. Mark your selected:- option on the OMR sheet. Answer any

40 questions. 40x 1 =40
. qEE T O e B @ 2
AT TEHE Semm- 1 (B) UEH emmi-2
© wEwwE3 - (D) e SeEm-g

Which is the longest National wétcrway ?

(A) National Waterway-1 (B) National Waterway-2

(C) NationallWaterway-S (D) National Waterway-4 .
2. g = AT el e © ?

(A)  3nfem (B) WeRy

(®) mﬂ .. (D) i

Where is Sariska Wildlife Sanctuary located ?

() Odisha (B) Maharashtra

(©) Rajasthan (D) Karnataka
3. % o] fegq weA el fRm R 2 ‘

() dferTg (B - FH

© (D) IR

L]
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Where is Kaiga Nuclear Power Plant located ?

(A) Tamil Nadu (B)
(C) Keralg

Karnataka

(D) Uttar Pradesh
4 vRa At 89 % Rra o gt S FE R E 2

(A) 18 (B) 20
(C) 23 | (D) 25
How many public sector oil refineries are functioning in India ?
(A) 18 - (B) 20
(C) 23 ' . D 25 )
5 w8 fema # few aw & I S R 2
(A) AT A (B) @A
(©) et T - (D) WFE Tl
By which name is Brahmaputra river known in Tibet ?
(A) Jamuna river (B) Tsangpo river
(C) Yaﬁgtzc river (D) Manas river
& B wed e e e T A R
A = - (B) ST
c) Tewme | (D) ww=E TR
Which is the oldest oil refining unit in India ?
(A) Barauni ' (B) Jampagar
(C) Dibrugarh (D) Bombay High
7. Preffmd A IR AT EEER P
A =@ (B) WS
©) A (p) T a @i
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Which of the following is a plantation crop ?

(A) Tea

(B) Rubber

(C)  Sugarcane ) (D)  All of these
8. pfe a Row e 3 wm ord o 2 2

(A)  ifrm
(C) wren

(B) T
(D) ugiferm

Natural gas is found with which mineral ?

~ (A)  Uranium

(C) Coal

(B) Limestone

(D)  Petroleum

97 TS & Tghe o e @

B) wgufy

(A)  SyEEH

©)  wewh D) To =y
Who appoints the Governor ?

(A)  Prime Minister (B)  President

(C)  Chief Minister (D)  Chief Justice

10. i S Wil 1 e R R o

(A) 'unf%aniqnnnq (B)

(C) it

Who formed Lok Janshaktj Party ?
(A)  Ram Vilas Paswan (B)

(C) Kanshi Ram

Ao fig
(D)  ¥RE, UTe

Mulayam Singh

(D) Sharad Yadav

| SS/A/612
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13.

14,

| [111]
dardl TS el % Rea 6 fRufy i feet @ siqoe @ gAE wEE
sfad 2 ?

) 2N (B) 67E

© 13§ . (D) 179®

In case of dissolution of Panchayati Raj institutions, at what time
interval is it mandatory to hold elections ?

(A) 2 months : (B) 6 months

(C) 1year (D) 1 month

fre T ) e AeTed T 1 S R T 7

@ fgm (B) I
() e | (D) 3RV SeH
Meghalaya was formed from which state ?
(A) Tripura ; (B) Aésam
(C) Nagaland (D) Arunachal Pradesh
T HEE) H IYH FH B 8 ?
ay wEE @) fren wRE
© =mfE o) e
Who is the head of the village court ?
(A) Sarpanch (B) District Magistrate
(C) Nyaya Mitra I(D) Mukﬁiya
ey A frg 0 1 TeRToRe WITEA AT ??
AL (B) wid
(c) = (D) wH & @i
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Which of the following countries has a Unitary Governmep,

system ?
(A)  Great Britain (B) France
(C)  China (D) Al of these

15, ﬁqﬁﬁﬁqmw?ﬂt?

(A) aqﬁaawr&hwﬁmﬁwﬁqq(s) AT ¥0san g5 g i
©) YRR g it (D) T = % gy

Which of the following is not a pressure
(A)

(B)

group ?
Akhil Bharatiya Vidyarth; Parishad (ABVP)
All India Trade Union Congress

(C) Indian National Congress

(D)  Rashtriya Swayamsevak Sangh .
16. ﬁqaqmaa%qumﬁﬁﬁﬁa%.? o
4 fer (B)  wrEvg
(C) e D) B
Biju Janata Da] belongs to which state ?
(A) Bihar (B) Jharkhang
(C) Odisha (D) Chattisgarh
L7/ m.ﬁamﬁﬁwﬁawﬁmqmﬁh% »
@ uftes g B)  fifws o
I8 Tt i D) '3 9 5
Which sector Contributes the most tg Gross Domestic Product »
(A) Primary sector (B)

Sccondary sector
(C)

Tertiary Sector D) N

one of thege
SS/A/612 ]
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18, Fe o Tovwen frealia gt @ 2
(A)  wE g gk

[111]

(B) . SUMITHI TL& mfhﬁun
(@) UuTE T (D) ¥ A wf
Which of the following has a three-tier structure ?
(A) Cd-operative credit society
(B) Consumer Protection Act
(C) Panchayati Raj
(D) Al of these _
10. Pt i fra qeasm w1 9@ Wive 7@ 8 ?
(A) GDP (B) GNP
(C) NNP (D) ¥ & Wh

Which of the following does not include.the value of depreciation ?

(A) GDP (B) GNP
(C) NNP - (D) All of these
20. vRdE mﬂﬁgﬂﬁ'ﬁ%&mﬁaﬁww% ?
(A) IS B) el
C€) v p) wHaad
Which of the following is included in Indian economic reforms ?
(A) Liberalization ' (B) Privatization
(C) Globalization (D) All of these

LSS/A/612 . Page 9 of 32
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22.

23.

24.

[111

gaft w1 wiftefis @1 @ 2
(A) @ B) gl
C) == (D) Talm Jm

What is the remuneration of capital ?

(A)  Rent (B) Wages

(C) Interest (D) Mixed income
e 4 @ o o B AR AR ?
(A) " (B) ®IUS

(C) el Hafa (D) & v

" Which of the following assets has the least liquidity ?

(A) Currency (B) Bond

(C) Real estate ' (D) Bank deposit

et U AT He {[6 g2

(A) 1988 ' (B) 1989

(C) 1990 (D). 1991

When did Jawahar Rojar Yojana start ?

(A) 1988 (B) 1989

(C) 1990 (D) 1991

fm 1 e o SR Frvom i Tl ) wliend gRfRT w0 & @
q g1 U1 ? . : .
(A) G ST B) W fawm gfteg

(€ A (D) Hs1 9N

I
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E (111 ]

Which of the following was formed with the aim of ensuring

participation of states in cconomic planning ?

(A)  Planning Commission (B) National Development Council

(C) NABARD (D) Money Market
25, Tmfafaa § @ +F snfw =mer @1 ?

(a) e (B) @

© fewms D) Taeet SATC

Who among the following was the German Chancellor ?

(A) Mazzini (B) Hegel

(C) Bismarck ' (D) | Victor Emmanuel
26. J9cd i shifd we g8 A ? o

(A) 1789 (B) 1821

(C) 1839 (D) 1917

When did the Naples Revolution happen ?

(A) 1789 . (B) 1821
(C) 1839 ; (D) 1917
27. A GHTEETE 1 S T8 AT S 27?
() @i (B) et W
(€ ¥ uEH (D) T T
Who is considered the father of scientific socialism ?
(A) Hegel (B) KarIIMarx
(C) Saint Simon (D) Martin Luther

SS/A/612 .o Page 11 of 32




[ 111

P i A Rl dou-fig 1 g & e o 2

28.
(Tl R ) e il
(C) W W (D) Gty w
Who among the following was given the title of Kaiser-i-Hind ?
(A) Rabindra Nath Tagore (B) Mahatma Gandhi
(C) Shankaran Nair (D) Surendra Nath Banerjee

29. = d 2 fre sidem &t e ThAE AGE A ?
(4 W A SRR (B) ST e
) Y@ORaen (D) Rewrd S
Which of the following movements started with 'Dandi March' ?
(A) Civil SiasdlenseMovememt
(B) Non-Cooperation Movement
(C)  Quit India Movement
(D) Khilafat Movement

50, I aT ufeRT foRE NI T WA 9 o 2

a) = +B) T
(C) wUdl (D) TSI
Amrit Bazar Patrika was the newspaper of which language ?
(A) Hindi (B) Bengali
(C) Marathi (D) Gujarati

A1, ‘wfge vt 38 gfEd HE' 6 W w6 g ?
(A) 1848 (B) 1881
(C) 1885 @1 1920

{_,S._%iﬁ& Page 12 gf_ga



33.

34.

111
When was 'All India Trade Union Congress' established ? | |
(A) 1848 (B) 1881
(C) 1885 (D) 1920
Hifera w9 w1 fawen e gan ?
(A) 1985 B) 1991
(C) 1968 (D) 1990

When did the Soviet Union disintegrate ?

(A) 1985 - (B) 1991

(C) 11968 | ‘ (D) 1990

e & g 3 R ToE e g S & P

A) ¥ wifesh wEil@  (B) AT AT

(€ e s (D) TEH fera sy
National income in India is calculated by which of the following ?
(A) Central statistical office

(B) Planning Commission

(C) NITI Aayog _ )

(D) National Development Couhcil

Mﬁmmmmmﬁmﬁaﬁﬁmﬁm?

a) «fFa (B) rara=

(C) wifeH | | (D) ferearh

Who changed the name of Bolshevik Party to Communist Party ?
(A) Lenin | " (B) Trotsky

(C) sStalin (D) Bismarck

SS/A/612 | _ Page 13 of 32
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N FISE 1 % g R man ey 0

(A) 1904 (B) 1905
(€C) 1907 (B) 1911
When was the partition of Bengal annulled ?
(A) 1904 (B) 1905
(C) 1907 (D) 1911
RS SRR B S # ?

(A) W w1 ol B)  ex urdf

(C) wmﬁwaﬁagﬁremﬁ (D) & g9

Which of the following was founded by Lala Hardaya] ?
(A)  Home Rule League

(B) Ghadar Party

(C) Communist Party of India

(D)  Brahmo Samaj

HRA §hR FHfufm, 1919 %I 58 =1 7 ¥ oft s s 2 2

() FEYAEEE G (B) g e

€ W REEhFE (D) e o

What is the another name for Government of India Act, 1919 ?
(A) Montague-Chelmsford Reforms

(B) Ilbert Bill

(C) Indian Statutory Commission

(D) Nehru Report

2
Page 14 of 3°
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38. Jas el i S A e e A 2

(A') | Hrgmg 3relt R (B) R gl

(C) aTa WIqgE WM (D)  HigHTg FHTEE

Who founded the All India Muslim League ? -

(A) Mohammad Ali Jinnah (B) Zakir Hussain

(C) Nawab Salimullah Khan(D) Muhammad Ismail
<o P 3 e o w8 @ R e o 2

39.
@A) = _ (B). @A -
(C) @ (D) g

_ Thc govcrnrpcn‘t of Bao Dai in South Vietnam was a supporter of

which of the following ? '
(A) China (B) Spain -
(C) France (D) Portugal

40. mﬁgﬁm@mﬁmm?
(a) @ ~ (B) S e fada
© wfm D) Zewh
Who abolished Serfdom in Russia ?
(A) Lenin (B) Czar Alexander II

; (C) Stalin (D) Trotsky

41,  Srachrdl e el ey g ?
(A) TEAH . (B) IW ™
() fagn (D)  WETg

Page 15 of 32
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Where was Shetkari organization established ?

(A)  Rajasthan | (B) Uttar Pradesh

(C) Bihar (D) Maharashtra
42. 733 gduf dee e @ Feed Wl @ ?

(A R T (B)  REICTHI

© w==mEeE 0 (D) T I

73rd Constitutional Amendment is related to which of the

following ?

(A) Panchayati Raj (B) Municipality

(Ci Supreme Court (D) | Elecfion of President
43. TSY RIS M, 1053 &1 e el A § g3 ?

() e e [B) TR g R

(C) T @ (D) e SRIGL e

Under whose Chairmanship was  the. State Reorganization

Commission formed in 1953 ?

(A) FazalAli (B) Sardar Vallabhbhai Patel
(C) Morarji Desai (D) Lal Bahadur Shastri
44, ﬁﬂﬁﬁmmﬁw—ﬁmﬁm'@lﬂﬁ%?
(A) T (B) T
() Har (D) A

In which of the following cities has municipal corporation beef

already established ?
()  Bhagalpur (B) Gopalganj
(C) Sitamarhi (D) Rohtas

| SS/A 612 Page 16 of 32
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A8,

| [111]
rfrfae o A el g R e T R ?
(A) W B A |
(€ & (D)  GEH T FAH

Which of the following does not have a federal system of

government ?

(A) India (B) China

(C) Spain (D) United States of America
ﬁmﬁémﬁw@maﬁtﬁr@w% ?

@ T @
) T @) @i

Which of the following subjects has been placed in the State List ?
(A) Agriculture (B) Police

(C) Irrigation (D) Al of these
et i 1 6 o g Rt el e & 2

(A 15 _ (B) 22

© 25 D) 21

How many languages are included in the Eighth Schedule of the

Constitution of India ?

a) 15 (B) 22
(C) 25 (D) 21
mﬂﬁﬁaﬁaﬁwmwmmt?

(B) Wi wfaus

(A) WA TR
@ o I I IRUAL

SS/A/612
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| iti ies ?
Who allots election symbols t0 pohtlcal partics

(A) Government of India (B Constitution of India
(C) Election Commission (D) president

49, mﬁmmﬁ@dﬁaﬁ@ﬂwﬁﬁﬁm?
(A) e 4B) qfiferT
c fEm - o) FR
Where was the first hydropower plant established in India ?
(A) Gangtok ' (B) Darjeeling
(C) Dibrugarh (D) Calcutta
50. wmmmﬁm\ﬁﬁfﬁmﬁﬁm%?
(a) I ‘ @) I
(C) SH-IV (D) -V
Kutch region of Gujarat falls in which seismic zone ?
(A)  Zone-lI ; (B) Zone-lll
(C) Zone-lV (D) Zone-V
51, a4 A e W TR AR
() (B)
(c) @ (D) SEYA
Which river is called the 'Sorrow of Bengal' ?
() ‘Gangh (B) Damodar
(C)  Kosi (D) Brahmaputra
[SS/A/612 i pTge’ll'S'ﬁ
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50. I H I TG FOA A AR 2

(Ay g W (B) Ud HW

(C) ¥ERWR (D) Fom HR
Which is the largest artificial lake in India ?

(A) Govind Sagar (B) Pant Sagar
(C) Sardar Sarovar (D) Krishna Sagar

53, Sre |ia FRE T8 W # P
An) Al (B) T T
(C) e A (D) T AL

On which river is Aswan Dam built ?

(A) Nile River \(B) Bréhrnaputra River
(C) Amazon River (D) Ganga River
—54. 20111‘4‘3:{&@1%1@% s 1 foga o @l wE WP
(A) wEH - ® fE
€ M @) g
What was India’s position in the world in terms of population in
2011 ? | |
(A)  First (B) . Second
c T hird (D) Fourth
55. e frm W gHEAH T oficicht & gueh Bl & ?
(A) qi FASHEAA . (B) el SEISHEAH
() aftn SeTsHERt (D) e SrereHERH _
[ss/a/612 | Page 19 of 32
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[111)

By which strait is India separated from Sri Lanka ?

(A)  Palk Strait - (B) Malacca Strait
(C)  Bering strait (D) Hormuz strait
T ATH GO el T o wEe @ P

(A) W (B) ¥R

(C) ¥R D) T & H§ TE
What is the old alluvial éoil of Ganga plain called ?
(A) Khadar ' (B) Bhangar

(C) Regur (D) None of these
HAAH SIS B THR HH 8 ? :
(&) Rk B) famme

@ wmE (D) faghra
Which is the best type of coal ?

(A) Peat ' (B) Lignite
(C) Anthiracite ; (D) Bituminous
FRVET T IIRVT el e 2

(a) HEm , (B) T

(C) WYL (D) ’Rﬂw
Where is Kusheshwar Sthan Sanctuary locategd ?
(A) Morena (B) Darbhanga
(C) Bhagalpur . (D) Nandan Kanan
g Ja1§ FEl 6l ATl 27

(a) e @a (B) W &

(@ TET & (D) ¥} wf

—

SS 612 '
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Where is contour ploughing done ? Y
(A) Plain arca (B) Coastal area

(C) Mountainous arca (D) Al of these

60, ShgrEe #§ w41 el geier At g o 2

@A) s (B) R

© T o) =g |

Which Earth Summit was held in Johannesburg .?

(A) - First (B) Second

(C) Third (D) -Fourth

1. Hreeh fre R H wEE 2 ?

@) i . B) T

() g . (D) wHIAIRT

What type of crop is peanut ?

(A) Rabi (B) Kharif °

(C) Zaid (D) None of these

62. gﬁﬁmﬁﬁgﬁiﬂaﬁq?ﬂq%?

@) @) T

© T D) =34

What is the rank of Bihar in the production of vegetables ?

(A) First (B) Second

(C) Third. (D) Fourth

63, e i FE e @ P 2 i
() damel (B &SR
© wm (D) U™
i— Page 21 of 32
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Where is Bagmati project located ?

(A)  Sitamarhi (B), Darbhanga
(C)  Saran (D) Rohtas .
64. 201’1@W%3§Wﬁ3ﬂ%%&ﬁaﬂmmw
w2
(A)  feram ®
€ T (O s
According to census 2011, which district of Bihar has the highest
density of population ?
(A) Sheohar (B) Patna
(C) Kaimur (D) Nalanda
65. fagr # Sfawar 5@1 AR ?
@ FN ®)
(C) TR (D) ¥ & &+t
What is thé main source of livelihood in Bihar ?
(A)  Agriculture (B) Industry
(C) Trade (D)  All'of these
66. FEAARN anfe nfafafy 7& & 2
() FM - (B ®
@ (D) e
Which of the following is not an economic activity ?
(A)  Agriculture (B) Communication
(@) Poverty (D) Transportation
(SS/A/612 PW




o7, 5 N i e R &
(A) S H Y (B) T 1 g
©)  fafw w1 mem ®) (a3 (C) i
What is the primary function of money ?
(A)  Store of v.al;t.le (B) Transfer of value
(C) Medium of exchange (D) Both (A) and (C)
8. Fer il @ defwTeA 0 TH FI R ? |
(A) ?ﬁﬂﬁaiﬁﬁﬁzneraﬁﬂﬁ (B) qﬁ:ﬁﬁwﬁtéa;
©) i o (D) ¥ @ HIE T
Which of the following provides long term loans ?
(A) Primary Agncultural Credit Society
(B) 'Land Development Bank
(C) Cbmmex:cial Bank

(D) None of these
69, Ta= § @ w - 3nﬁksanuﬂqunaqraﬂavr%?

(a) fo B)

) S (D) ¥ER

Which of the foilowing is a part of non—economic infrastructure ?
' (A) Finance (B) Education

(C) Energy (D) Communication

g0, avdiRwl % GRUTHEET fifig 2ot % o=, F= ¥ frge faiu @R

Bl 8 ?
a) 9 B) el

(Cc) M - () wwawh

Page 23 0f§5
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i ' llowi
As a result of globalization, Which of the following hag

uninterrupted flow among different countrics ?

(A)  Capital (B) Technology
(C) Labour (D) Al of these
1. W g o el w s P @ SR R g
FHEATl 8 ?
(&) Tasfiem B) Tafraw
(€) el (D) el

What is the removal of unnecessary controls and restrictions on
cconomic activities by the government called ?

(A)  Privatization (B) - Disinvestment
(C) Liberalization (D)  Globalization
72, T A o e T 1 57 @ e 99 v o
e #X wwhar § ?
@) Feremwm (B) TSY 3mm
©) g R 0 A wh

Where can a consumer complam if the value of the goods or service
or the compensation amount exceeds Rs, ] crore ?

(A) District Forum (B) State Commission

(C) National Commission (D)  All of these

73. aﬁaﬁum%ﬁﬁmﬁmﬁmm?

(A) & Eawe I
(C) & HTHER (N S
, Who planned the main streets of Paris » .
(A) Baron Haussmann (B) Ebenezcr Mokl
(C) Le Corbusier D)  Samuye it
| SS/A/612 — 3
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76.

77.

Tiefsh 3wt e 6 e wa 2 o
(A) iR ) (B) 3BT

© T D)

Where did Gandhiji cstablish‘Sabarmati Ashram ?
(A)‘ Gandhinagar (B) Ahmedabad
(C) Surat (D) Vadodara

¥ % 7 § el v o o 2 '

(&) WwE @ R

(C) R | (®)

Who was defeated in the battle of Sedan ?

(A) France _ | (B) Germany

(C) ~ Austria e (D) . Prussia

Ao 1 fre I 3 § R &= dan @ i ot 2

a) AR - B) wahw

(© e (D) o

Who aﬁong the following introduced compulsory military service in

| his country ?

(A) Mazzini - (B) Metternich

(é) Bismarck (D) Lenin

i 3 P ST S 1 gt R H g A e o 2
(A) tema (B) WM

€ wHd (D) ol
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[111)
Which ruling dynasty in France was rcst‘orcd by the Congresg of
Vienna ?

(A) Habsburg ‘ (B) Romanov
<. ) Slavig - (D)  Bourbon
78, i Frivm fe 39 2 0
A) Wi wify B) w sifd
(C) e wify (D) w=HF wf
Whose contribution is economic planning ?
(A)  French Revolution
(B)  Russian Revolution
(C)  American Revolution
(D)  All of these
79. mﬁmﬂmgﬁmmhmﬁﬁaﬁwﬁﬁ of -
(A)  H B)  wwad
(C)  FHeasm (D) e
Where was the first modern cottop mill ®Stablished i India ?
(A)  Surat (B) Bombay
(C)  Calcutta (D) hmedabad
80.  #-di-firg gl W o »
(A) 390 frgeamy TR -
(C) 3iy (D) T
Ho Chi Minh was the ryje, of
(A)  North Vietnam “;:)Lh CSO Ty
(C) Laos . o R Vietngm

. P Cambogs,
SS/A/612  /2 |
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@Ug - T / SECTION -B |
W!History

g 39T W9 / Short Answer Type Questions

7T QAT 1ﬁswwmﬁfﬁﬁ#ﬁﬁsmﬁ%mé:mm%
forw 2 of@ freiRa &1 - . 3x2=6

Question Nos. 1 to 6 are Short Answer Type. Answer any 3 questions.

3x2=6

Each question carries 2 marks.

e sifeare & 3 7§ 8 P
What do you understand by Historical Materialism ?

mgm%a—ﬁqaﬁwﬁéwﬂﬁwmmwm?

What was the initial objective of France to colonize Indo-China ?

ﬁﬁﬁmﬁh:ﬁﬁ?ﬁmmﬁmmmﬂam?

What impact did British economic policies have on Indian

agriculture 7
arcfra T <R b FAr R offeufoal J & ?

Under what circumstanccs was the Indian National Congress

established ?
‘wﬁiﬂnwﬁﬂ’:ﬂﬁ{mwmﬁaﬂzmﬁm?

Who adopted the 'golden middle class' policy and why ?

foer v <1 91 Ie¥A U1 ?

What was the purpose of the Vienna Congress ?

SS/A/612
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&t it wew / Long Answer Type Questions

T WG 7 30 8 3 Iy 1 g @ Ft v T IY &1 ORF 9T & fy
4 3% futRa ¢ ‘ I1x4=4

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them,
Each question carries 4 marks. Ix4=4q

7. TE Iyt fova A redfes sty @1 whea R s 2 s

How nationalism is the result of political awakening in the modern
world ? Discuss,

_8 Rl it srider i witfish <t v T
Explain the role of Gandhiji in the Indian National movement.
T forwm / Political Science
g I Uy / Short Answer Type Questions

WY WS 9 W 12 7% g WA &1 9 @ fre 209 % 3w &) wedw v
& forw 2 3 fraffiea &1 2x2=4

Question Nos. 9 to 12 are Short Answer Type. Answer any 2 questions.
Each question carries 2 marks.

9. U= arq‘mmug@ww%?
What is the main function of State Finance COl:nmission 2
c/Hf/dqﬁmiilmﬁFFRf%EPW$REHGWﬂEﬁ$ﬁaa5ﬁm{ﬁmﬁmﬁﬁﬁ:>

How is the Right to Information beneficig] for accountable

democracy ? -
Amwﬁ T T T & P

What do you understand by dual governance system ?
12. g1 & & frmo @ &0 sfgE @ 2

What is meant by horizontal distribution of power 7

SS/A/612

2x2=4

Page 28 of 32



(111]
€id 3T W¥ / Long Answer Type Questions
TV WET 13@'14#&%#:3#&#&#?@&73#?%1%%%

fore 4 3% fraifta &1 1x4=4
Question Nos. 13 and 14 are Long Answer Type. Answer any one of them.
1 x4 =4

Each question carries 4 marks.
13,  FR-frm & wg@ Imt & 9w
Explain the main organs of Municipal Corporation.

Q4”3 A w5 - ¢ pfeat & » frdrn 11

What are the challenges of dcmocracy in current Indian politics ?

Discuss.
E DN /' Economics :
g 3IWHT WeT / Short Answer Type Questions
YT WEAT 15 Isaaragaﬂﬁv?rﬁ##&?? 29yt & IV &1 AdH A

& forg 2 31?1‘5' fraffRa &1 _ 2x2=4
Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions.
Each question carries 2 marks. 2x2=4

15. W%ﬂawﬂwm%?

What is mcant by Human Development Index ?

16. ot fEen w1 A R P
What is economic activity ? '
a7 fva TR EEA {WTO)%;mwaiwwm?
‘What was ' the purpose ‘of the formation of World Trade

Organization ?

38/ asﬂmmﬁmwmﬂﬁ?

What do you understand by double counting ?

\ SS/A/612 | . | Page 29 of 32
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- did 3987 Wy / Long Answer Type Questions

W WA 19 Ud 20 3 Jwdig §1 g # Al UF BT I T TR ey 4

fre 4 s Fraffir #1 1 ¥4

Question Nos. 19 and 20 are Long Answer Type. Answer any one of them;
Each question carries 4 marks.

10. h%ﬁ%mﬁwmmﬁqﬁmﬁﬁﬁwaﬁl

l1xq=4

Discuss the role of infrastructure in the economic dcvclopment of
the country.

20. mdzw%gmmwﬁamﬁm_mﬁmmhﬁl

Describe the judicial system set up by the government for
consumer protection.

‘Tﬁ'ﬁ / Geography

: 3 x2
E mﬁzmq&nﬁmﬂwwm%?

tion anqg Management ?
22.  fiqw P & e wfi ‘Tﬁ"ﬂﬁa

Define plantation agriculture with an e

Xample,
?;( PR & a1 Q) U RLINY
Mention any two measures for gpj) Congery,
ation,
SS/A/612
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4. wEuA fraem @ s s 2 2

What is meant by resource planning ?

p58, wfE WS A T T GUI € ?

What do you mean by organic minerals ?
26, S T & w7 o R 2
What is meant by density of population ?
e TG W9 / Long Answer Type Questions

T WA 27 U 2sﬁémﬁa?:ﬁﬁﬁﬁ1ﬁwmmwmmé
fere 4 3w FraffRa &1 ~ 1x4=4

Question Nos. 27 and 28 are Long Answer Type. Answer any one of them.
Each question carries 4 marks. I1x4=4

27. WA % W@ TEE e s s Sk

Explajn the major National waterways of India.

08. adl ¥ Wiy nge W Rovft ford |

Wnte a note on the environmental importance of forests.
| 9T WS / Disaster Management
g tﬁrﬂ'ﬂ wyq / Short Answer Type Questions

oy WEAr 29% 32awagawﬁvé‘:ﬁﬂ’#ﬁ»?? 20¥ & AT 1 UF gy
& forg 2 3 frifta & 2x2=4
' Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions
Each question carries 2 marks. 2x0=4

M%Wﬂmwﬁ%mgﬁ@|

Suggest measures to reduce the incidence of flooq

SS/A/612 o
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M%mmmmi?

* What are the factors responsible for drought ?
31 Wit e % W HEI T a1 Hieus HaAR WeAw w4 § 2

What are the alternative communication mediums used during
natural disaster ?

32. &Y TE gA % Wi e @ W st ear & 7

Which areas are more affected by earthquake and tsunami ?

[ ]
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